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FA ASSUMS D
Ha: AE QM B
CHel: ZESIN U ABSMEe) (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 552,500 162,500 390,000
= 425,000
== 127,500
01 XN BSELS 552,500 162,500 390,000
OAtISASa2elNdE 23 X2 562,500
= 425,000
S 127,500
ol0I= B4zl K& 18,000 18,000 0
307 212+01& 18,000 18,000
04 QIZIHAIAIH E X 18,000 18,000
Ool101E Atz X2 18,000
& =2 2AH98 NHlA 2= 73,228,045 73,317,590 89,545
= 17,350,920
s 2,604,693
Il 29,601,818
ES 60,000
& 23,610,614
Ararof 2,741,803 2,641,792 100,011
= 175,990
Jl 1,313,594
e 60,000
= 1,192,219
AHHOIPANY KT 477,000 565,000 88,000
308 AXIHMSO0IA 477,000 465,000 12,000
01 RSN EES 477,000 465,000 12,000
OXtariey HES At 465,000
OBIZHEHH 8 At HHES 23 &
AHALY 12,000
M ES ESAE 60,000 60,000 0
e 60,000
308 XXM SOIA 60,000 60,000 0
ES 60,000
01 HAHHBSEXRS 60,000 60,000 0
OdgAg S BH ¢ aueg 82 X
2 60,000
EN 60,000
AL LR & HaA2Sd 32,000 32,000 0
Il 32,000
307 elztol & 32,000 32,000 0
Il 32,000
02 LB HAHEE 32,000 32,000 0
O S JAALSA 32,000
Jl 32,000




FAN ASSUMS D
M F =2 P02 MHIA 7%
el ey (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ao a2 eEss 898,113 833,79% 64,318
Jl 611,094
== 287,019
307 el2to| & 296,288 270,712 25,576
) 148,144
< 148,144
05 212t =S 296,288 270,712 25,576
OZg THauPAE a2 218 X3 296,288
Il 148,144
= 148,144
308 XtXIEMSO0IE 601,825 563,083 38,742
Jl 462,950
=S 138,875
01 XN BSELES 601,825 563,083 38,742
OJI= AaiZAg a2 o1 X3 601,825
Jl 462,950
[ 138,875
et R= AAS MHIA 892,404 849,403 43,001
Il 595,500
= 296,904
307 212+01& 337,870 329,410 8,460
7l 168,935
= 168,935
02 B A HE L 337,870 329,410 8,460
OXtat R= JAE MHlA 2 X (&) 337,870
Il 168,935
== 168,935
308 AIXIHHISOIA 564,534 519,993 34,541
) 426,565
= 127,969
01 HASHHBSEXS 554,534 519,993 34,541
Oftat 2= FAE MHIA XFOIx) 564,534
Il 426,565
= 127,969
Aat 2= X A 150,000 64,000 86,000
Il 75,000
== 75,000
307 elztol & 150,000 64,000 86,000
Jl 75,000
< 75,000
02 2IZHBYAIHE £ 150,000 64,000 86,000
OXtet == X2 Argddl 150,000
Jl 75,000
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FAN ASSUMS D
M A =2 2Ao= MHIA 2=
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XHAE SEALSTAL (AIZ) 5,106,408 5,346,715 240,307
Jl 3,921,083
== 1,185,325
308 AtXIEHMISOIE 5,106,408 5,346,715 240,307
) 3,921,083
< 1,185,325
01 HASHHBAEEXS 5,106,408 5,346,715 A240,307
OXISAtel SSALSTAIE X 5,007,408
Il 3,921,083
= 1,176,325
O stitd & 2219 & 2220102 9,000
A2l HE A HE (E=2) 3,386,101 2,324,219 1,061,882
= 2,604,693
[ 781,408
308 AXIMSO0IA 3,386, 101 2,324,219 1,061,882
[ 2,604,693
< 781,408
01 HASHHBSEXS 3,386,101 2,324,219 1,061,882
OgEsAaZ e/ K& 2,210,474
[ 1,700,364
= 510,110
OAl-loT 0124l AZ2e|MblA XIS 1,175,627
s 904,329
== 271,298
2L tEEE 20t |4 16,060 19,110 A3,080
Jl 16,060
308 XtXIEMSO0IE 16,060 19,110 23,050
Il 16,060
01 X HHNBAEXS 16,060 19,110 23,050
OntgZiat AHE & AZ AL FMTP 16,060
Jl 16,060
AL AT Y2 A 69,412 69,412 0
Jl 34,706
= 34,706
307 @I2t01 & 69,412 69,412 0
Jl 34,706
= 34,706
05 2ItRIE = 69,412 69,412 0
Odlgade oAt 2 X3 69,412
J| 34,706
=S 34,706
=otzel XIXHAl X2 2,022,410 2,411,500 /389,090
Il 1,555,700




A ALSHASH
M F =2 P02 MHIA 7E
Rl ALBSEES EER=E)
M- B - 2(31) - HIRAY - BY il &k e HlmS2
= 466,710
308 AXIHMSOI & 2,022,410 2,411,500 A389,090
| 1,555,700
& 466,710
01 AXESHHZAEEZ 2,022,410 2,411,500 A389,090
Ogh ZIIZAALE K 2,022,410
| 1,555,700
& 466,710
A} Cl2dl Y Aot XA (MEAIY) 2,418,062 2,418,062 0
308 RXISHMSOIH 2,418,062 2,418,062
01 AXIEHELAERS 2,418,062 2,418,062
O&tkt 2=l K& 2,308,800
Ot R 22| AL 109,262
S==HA LA 276,487 268,434 8,053
| 257,197
& 19,290
308 RXISHMSOIH 276,487 268,434 8,053
| 257,197
= 19,290
01 AXIEHZLAEXS 276,487 268,434 8,053
Oz 3R LEH2 276,487
| 257,197
= 19,290
lZa8dgER ALHE 16,125 16,125 0
| 15,000
& 1,125
308 AXIHMISO0I & 16,125 16,125 0
| 15,000
& 1,125
01 AXIEHZAEES 16,125 16,125 0
Oczsisagd it 22 16,125
| 15,000
& 1,125
a0z dA SR0HAH 30,534 28,888 1,646
| 28,404
= 2,130
308 AXIHMSO0I & 30,534 28,888 1,646
| 28,404
& 2,130
01 AXIEHBLEES 30,534 28,888 1,646
Ooza0==a=2dA E:0tF &L X 30,534
| 28,404




A ALSHASH
B I =2 2R MHIA 7S
Rl ALBSEES EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| & 2,130
IFO0F HEHON FUZ A X2 39,292 40,508 A1,216
| 36,552
& 2,740
308 AXIEMSO0IM 39,292 40,508 A1,216
| 36,552
= 2,740
01 AXIEHZAEXS 39,292 40,508 1,216
OgR0t X0 FLHAE XA 39,292
| 36,552
= 2,740
SIAXISE HEtkt ol=H| XIEAHY 1,560,994 2,818,392 A1,257,398
| 1,300,828
& 260, 166
308 AXISHMSOIN 1,560,994 2,818,392 A1,257,398
| 1,300,828
& 260, 166
01 IXSHHBLERS 1,560,994 2,818,392 1,257,398
Os|AHXLE &} el=H| K& 1,560,994
| 1,300,828
& 260, 166
KSAS AL AL ZAEA 2SR 546,996 546,9% 0
J| 546,996
308 AHXIHMSOIH 546,9% 546,996 0
| 546,996
01 XIXIEHHBAE LS 546,996 546,996 0
OXIDAt2] HZZA AFE XIR 546,996
| 546,996
KNS EAMSARNZMEIA(Z) 84,548 34,500 50,048
J| 42,274
& 42,274
307 gIzHol 84,548 30,000 54,548
| 42,274
& 42,274
05 2IZ2tRES 84,548 30,000 54,548
OXIG A2 S4 FHAIY RIZtRIE X2 84,548
| 42,274
= 42,274
KA ESASAX MY A (AZEA) 2,466,576 2,599,883 A133,307
J| 1,897,366
= 569,210
308 AXISHMSOIA 2,466,576 2,599,883 133,307
| 1,897,366




FAN ASSUMS D
M A =2 2Ao= MHIA 2=
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 569,210
01 HASHHBSEEXS 2,466,576 2,599,883 133,307
OXSAtlSs SHAMY X3 2,466,576
Il 1,897,366
= 569,210
MNASE SHEXIZAZ ALY 187,937 227,186 A\39,249
Jl 187,937
308 AtXIEHMSOIE 187,937 227,186 A\39,249
Il 187,937
18 SIS0t oA AS At 187,937 227,186 A\39,249
OMASE 3gXE XN 187,937
Jl 187,937
Y dz - 2| 756,200 560,600 195,600
= 378,100
== 378,100
307 elztol & 756,200 560,600 195,600
= 378,100
[ 378,100
03 PIHHEE 22X 756,200 560,600 195,600
Osgds el 2= HH 2SXE 756,200
= 378,100
= 378,100
SEH A0ty &0t A 10,000 10,000 0
307 212+01& 10,000 10,000
02 2B HAHE L 10,000 10,000
OHEs A0t 80X 10,000
AL AKX (E) 58,943 58,943 0
308 AXIMS0IA 58,943 58,943
01 XN BSELES 58,943 58,943
Odolg et & ey AUAIY Xz 58,943
A gans stEs J4dl X2 45,000 45,000 0
308 AFAIEHMSOIE 45,000 45,000
01 HASHHBSEXS 45,000 45,000
SLE2TE g8S Yl K& 45,000
felsul A2 X219 XA 32,500 46,430 213,930
308 XXM SOIA 32,500 46,430 213,930
01 AXH B2 LS 32,500 46,430 A13,930
Lelsul A2 X310 XI& At 32,500
Had e S32ets oY X=X A 41,769 41,769 0
308 AXIHSOIA 41,769 41,769
01 XN BSELES 41,769 41,769
OZd 2es egils A& 41,769
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FAN ASSUMS D
M F =2 P02 MHIA 7E
Rl ALBSEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NS EHAE 2a=Atel €= Aeds WS 10,670 12,781 A2,
Jl 10,670
308 AHAIEHMSOIH 10,670 12,781 A2, 111
Jl 10,670
01 XN B2 LS 10,670 12,781 A2, 111
OXNS ALY At 22 SEHa 1
= 10,670
Il 10,670
SUALXAAE S THE(CBR) ALY 21 24 136,225 132,881 3,344
= 104,790
< 31,435
308 AXIHSOIA 136,225 132,881 3,344
= 104,790
= 31,435
01 AXEH B EES 136,225 132,881 3,344
OXISAtelSY THE el2id] X 136,225
= 104,790
= 31,435
NS L2 A= 200,000 200,000 0
Jl 100,000
< 100,000
307 elzto| & 200,000 200,000 0
) 100,000
& 100,000
02 QA HAIEE X 200,000 200,000 0
OXggdH 2 X 200,000
Il 100,000
= 100,000
LUETSEXNXNE 2 200,000 200,000 0
Jl 100,000
s 100,000
307 elztol & 200,000 200,000 0
Jl 100,000
[ 100,000
02 2B YA R E £ 200,000 200,000 0
OZUENSHAXNLEH 2SS A 200,000
) 100,000
= 100,000
NS W XS AZAXE oA 200,000 0 200,000
Jl 200,000
308 AXIHSO0IA 200,000 0 200,000
) 200,000
01 XN B2 LS 200,000 0 200,000

_11_




2A:

E M

ol

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNSg W XS HLHX oA 200,000
Jl 200,000
G0 LEHO FLBAHI X3 (%) 10,000 0 10,000
308 XtXIEMSO0IE 10,000 10,000
01 AXEH B2 LS 10,000 10,000
OS70t LEHH FLBAHI X (%) 10,000
ot EgAM(E2IEN) 100,000 100,000
308 AXIHSOIA 100,000 100,000
01 XN BSELS 100,000 100,000
Osesl E58A1Y 100,000
ASSHe Zyidl X3 1,200,000 0 1,200,000
Il 1,000,000
= 200,000
402 2I2E X201 & 1,200,000 0 1,200,000
Jl 1,000,000
= 200,000
01 QIR AL L (KA &) 1,200,000 0 1,200,000
OXNSSHH &bl X 1,200,000
Il 1,000,000
== 200,000
- X042t 49,091,359 48,233,640 857,719
= 16,692,040
Il 16,954,634
== 15,444,685
SelAd yoledel s 22 25,000 13,005 11,995
201 er2&| 25,000 13,005 11,995
01 At2teltl 25,000 13,005 11,995
OFuAY Heids S 23 25,000
JZZUAY=SKHH K& 564,655 564,655 0
Il 434,350
= 130,305
308 AFXIEHMSOIE 564,655 564,655 0
7l 434,350
= 130,305
01 RSN EES 564,655 564,655 0
OJIz=8aAZ=XHEH XA 564,655
Il 434,350
== 130,305
JIZELAYSAHE 2SX2 32,292 32,292 0
308 AtXIEMSOIE 32,292 32,292
01 HAHHBSEEXS 32,292 32,292
O UAUSXHE SAHL X IHEHI 32,292
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FAN ASSUMS D
M A =2 2Ao= MHIA 2=
el & - X2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 579,520
403 MR HMSAHE01H 1,738,560 2,250,000 A511,440
= 1,159,040
= 579,520
01 XA =22 E 1,738,560 2,250,000 A511,440
OZUQIAIE JIsEd X 1,738,560
= 1,159,040
= 579,520
SEITHEAE 2EX& 709,785 709,785 0
308 XXM SOl 709,785 709,785
01 XN BSELES 709,785 709,785
OdANEAe =28XH 709,785
HUALSTAIE X2 330,372 303,588 26,784
308 AXIHSOIA 330,372 303,588 26,784
01 HASHHBSEXS 330,372 303,588 26,784
OBUAHLSTAIE SALA M <IHA 230,328
OZUAHLSTAIE SALAH EHSAH X 100,044
SeEEN X=X 123,500 87,553 35,947
= 95,000
== 28,500
308 AXIHHSO0IA 123,500 87,553 35,947
= 95,000
< 28,500
01 HAHHBSEEXS 123,500 87,553 35,947
OEMEEXA XI=H| K& 123,500
= 95,000
= 28,500
JIZZAY=REE g XA 3,763,513 3,763,513 0
Jl 2,895,010
=S 868,503
308 XX HMS0IA 3,763,513 3,763,513 0
Jl 2,8%,010
== 868,503
01 HRESHH B EES 3,763,513 3,763,513 0
OJI=3aAB=FNdH o= N3 3,763,513
) 2,8%,010
< 868,503
H(A)ERIISHAE XA 167,700 167,700 0
Jl 129,000
= 38,700
308 XXM SOIA 167,700 167,700 0
Jl 129,000




=

<

od
i’
oF
uJ

=
=

HoE AHIA

HS

e & & b 8 3 8 s s )
© © © S S S © © ©
no 3 3 3 & & & 2 2 R
Klo < < <
E
E=]
8 oo oo B 8 8 8 5 e} o)
N 2, 2, N S S S S S S
N~ Al A Al (®>)
) o o o
RIS
S8 83838V RNIVBRNTYS BB 5488338888 8|8 S88 83838 8RAEISKR &8 8 LY
NN KNS RN OISR ©n o S AddS S S5 38 9|8 & 9698 § 9ol oy o g §F o0
N~ s N I DI Iy DI S o0 — NN N~ I~ O 1) 1IN 1V MO|®D LK MOH|ARA N KB M
Bl B33 E688585s I YBIBE IV 338888838883
3 R R
<
b=
L4 ~ U ~ U ~ U ~ W ~ U ~ U ~ U ~ U ~ ~ U ~ W ~ W
— 0 0
] g " =
= = < Il
Bl n0 0 < <~
. 5 3 5 @
< Fl 0} s
2 R0 ad R R
I+ or of ot _ 30 30
= = = = o8 0H 0H _
= oF
: D o ol ol 30 ol ol =
= nm = o m =< =< =< =< 0
m Kl = = K RJ pd 0B o RJ a1 K4 o@:
o H Ko a1 v H _M_W m_m a1 m_m m_m = o
oF 0 " = =) <0 N = N N g D
u R0 Ki Rl o RO Y Rl S r o z 3
. = 0 Klo = = < < Klo pd or < < i <0 M
= ol 4 A0 Y gl RO RO A0 =) F R ROz T =) Ko 0o
_._mo R o~ Ry 3 < oD [ Ryl = 2 ol oD 0 %) | &<
K = R0 ol = = b o m 2 ol ol W o & o o) o) RO
- s © R0 2 s © O R0 S g O O 00 S y ©
ol el oD el <J ™
Ik 1o o RO

_15_



SN AYBTASY
M F =2 P02 MHIA 7E
chel Hal - xiofzel (SHol: )
SA - BE - C9(3H) - KA - BES Ol &t e B2
AU 2 ZAALSEALS 427,519 423,505 4,014
| 328,861
= 98,658
308 AEXISHMSOIH 427,519 423,505 4,014
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